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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot EC/PH from runoff
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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P3-1_0, Day=53 (2025-05-21)
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P3-1

BjiE) | EBEETIK (F)) | EBE (BAH/K) | XS ERE

08:25 278 150.0 |Z=| 1BRi%e08:25 Bzh (KEERESE)
08:55 278 150.0 (& =| 1BiB@08:55 Bz (FRHAEREE)
10:30 278 150.0 | =| 1Ri%@10:30 Bz (kAEREE)
11:50 278 150.0 Sl {Rige11:50 B3 (REAERSE)
13:00 278 150.0 |Z=| {Rig@13:00 B3h (RE{ERSE)
14:15 278 150.0 (Z=| 1BRige14:15 Bzh (REERESE)
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